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1.

Maximum Marks : 60

INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put hisfher signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
thecircle.

Use black/blue point pento darken the circle.

See the following illustration.

Hlustration:

1. Thesumof20and 12is

(a)32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

1 @ ® © @

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

Keep OMR Answer Sheet straight. Do notfold it.

All questions are compulsory, each question carries one
mark.

Use of calculator/mobile/any electronic item/objection
material is NOT permitted.

Controller of Examinations

T Az 1 aref Fvig ghver 1 Rafer & shit F o0 79 i i AT |

Please note that in case of any confusion, the question printed in English may be considered final.
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4.

In which of the following computer generations
the integrated circuits were used?

(@)  First
() Second
(c) Third
(d Fourth

What is the 2's complement of (79),,?
(@ 1001111
() 0110001
(c) 0110000
(d 1110000

Which of the following Boolean expression is

equivalentto (4+ B) ?

(@ 4+B
b) 4+B
(0 4.B
(d 4.B

Which of the IEEE standards is used to represent
real numbers in computer's memory ?

(2) IEEES802
() IEEEA417
(¢ IEEE621
(@ IEEE754

____memory is located between CPU and
main memory of the computer to speed up the
memory operations ?

(@ Cache Memory
(b)  Secondary Memory
(c)  Tertiary Storage
(d)  Virtual Memory



10.

e B WMo A - A A PeRRE A X R
NI T IHRT e 2 7

(%) HITP

(®) SNMP

() IMAP

(@) IGMP
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printf ("%d", *x +2);
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10.

Which of the following protocols is used by email

service over the Internet ?
(& HITP

(b) SNMP

(c) IMAP

d I1GMmp

What is the output of the following code ina C
program ?

intx []={1,5,9,7,9,0};

printf ("%d", *x + 2),

@ 5
® 9
c 7
d 3

Which of the following is not a valid data typein
C++?

(@  unsignedint

(b)  unsigned char

(©)  unsigned float

(d)  unsignedlongint

Which property of object oriented programming
languages enables the binding of data and code
together into a single unit ?

(@  Encapsulation
(®)  Polymorphism
(¢)  Inheritance
(d)  Portability

Which of the following statements are correct
about constructor function of a class:

(@  Aconstructorhas always the same name
as that of its class.

(@ A constructor does not have any return
type in its declaration,

(@) A constructor cannot be overloaded}
(v) A constructor can be virtual,

(@  (i)and(ii) only

()  (iii)and (iv) only

(© (D, (ii)and (iv) only

(d  Allarecorrect
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(F) XX*);

@) XX

(@) X X(constX);

(¥) X(constX &);
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(%) break

(|) continue

@@ f

(7) goto

A Taie M@ C++ A A Call me() HFAT F
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void callme(int a, int &b){
a=15;

b=15;

intx=y=10;
callme(x, y);

}
(®) x=10,y=10
@) x=15,y=10
(@ x=10,y=15
(@) x=15,y=15
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Ifa class B is derived from classs A as :
class B :private A {...};

then:

(a) All the members of class A become
private in class B.

(b) Public and protected members of A
become private in B.

(©)  Public members of A become private in
B and other members of A are not
accessible in B.

(d None of the members of class A are
accessible in B.

What will be the general function prototype for
a copy constructor of a class X in C++7?

@ XX*);

® X&)

() XX(constX);

(d X(constX &);

‘Which of the following control statements cannot
be used outside loops in C++?

(a) break
(b)  continue
c© f

(d goto

What shall be the value stored in variables x and
y after the call to callme( ) function in the
following C++code ?

intx=y=10;  void callme(int a, int &b){
callme(x, y); a=15;
b=15;
}

@ x=10,y=10

b) x=15,y=10

) x=10,y=15

d x=15y=15

Which of the following digital circuits is a
sequential circuit ?

(a) Multiplexer

(b) Counter

(c) Decoder

(d) Adder
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20.

Identify the digital circuit shown below:

D

(a) FlipFlop
(b)  FullAdder
(c)  ShiftRegister
(d) HalfAdder

>

Which of the following boolean expression
denotes the exclusive or operation?

@ A4+B

(b) A’B+ 4B’

(© 4B

d 4+B
RS,JKandDaretypesof

(@  FlipFlops
(b)  Registers
(¢)  Counters
(d) Adders

Which of the following C++ operators is a
ternary operator ?

(@  Address (&)

(b)  Bitwise left shift (<<)

()  Conditional (?:)

(d)  Scoperesolution (::)

Kamaugh Maps are usedto . L
(@  Simplify boolean expressions

(b)  Generate maps from data

(¢)  Identify objects in a program

(d)  Perform arithmetics
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Which of the following activities is not a part of
instruction cycle?

(a) Fetch

(b)  Siplify
(¢) Decode
(d) Execute

Identify the correct order of memory hierarchy
from fast and expensive to slow and cheap ?

(a)  Registers » Cache — Main Memory —
Disk

(b)  Cache — Registers » MainMemory —
Disk

(¢) Disk— Cache — Main Memory —
Registers

(d) Main Memory — Disk — Registers —»
Cache

The communication pathway connecting major

components of a computer system (CPU,
Memory and I/O subsystem) is called

(@  Track

(b) Bus

(¢)  Channel

(d) Link

The isaspecial form of memory-mapped

I/O in which a peripheral device directly reads/
writes memory without the intervention of CPU.

(a DMA

(b) MIMD
() SIMM
@) FIFO

Which of the following is not a function of an
Operating System.

(a)  Toschedule CPU among various running
processes.

(b) To manage file system on storage
devices.

(¢)  Tokeep track of memory allocation.

(d) Toprovide word processing facility to the
users.
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26. Which of the following CPU scheduling

27.

28.

29.

30.

approach provides the minimum average waiting

time for a set of processes ?

(@  First Come First Serve

(b)  Shortest Job First

(¢) RoundRobin

(d)  Priority Scheduling

Which of the following are four necessary

conditions for a deadlock to occur in OS ?

(@  Mutual exclusion, hold and wait, no pre-
emption, circular wait

(b) Mutual exclusion, hold and wait,’
preemptive scheduling, wait

(¢)  Mutual exclusion, hold and release, no
pre-emption, linear wait

(d)  Mutual inclusion, hold and wait, no pre-
emption, linear wait

What is the average waiting time for the following

set of processes using FCFS CPU scheduling ?

Process Arrival Time CPU Burst
p1 0 24
p2 1 3
p3 2 3

@ 10

(b) 12

c) 14

@ 16

Which type of fragmentation occurs in following

strategies for memory allocation ?

()  Allocating memory in fixed sized blocks.

(@)  Allocating memory dynamically as per
process needs.

(@  Internal fragmentation in (i) and external
fragmentation in (i)

(b)  External fragmentation in (i) and internal
fragmentation in (ii)

(c)  Internal fragmentation in both (i) and (ii)

(d  External fragmentation in both (i) and (ii)

The phenomenon of a series of page faults

occuring one after anotheriscalled

(@ Deadlock

(b)  Starving
(©  Agng
(d)  Thrashing
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(®)
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10.1.1.1/8

(a) 172.16.18.21/16
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(|®) CSMA

(@) CSMA/CA
() CSMA/CD
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(%) Physical
(@) DataLink
(I)  Network

(a)  Transport

31. Whichofthe following is a class C IP address ?

32.

33.

34.

35.

@ 192.168.1.14/24
® 10.1.1.1/8

© 172.1624.18/12
@ 172.16.1821/16

At which layer of ISO/OSI reference model
does a router work ?

(a) Physical Layer

(b) DataLink Layer
(¢) Network Layer
(d) Transport Layer

Which of the following transmission media use
glass or plastic strands as propagation medium
for signals ?

(a) UTPCable

(b)  Optical Fibre Cable
(¢)  Thick Ethernet

(d) Coaxial Cable

Which of the following access methods for
shared medium is most suitable for wireless
communication?

(a) Aloha
(®) CSMA

€ CSMA/CA
@ CSMA/CD

Which layer of ISO/OSI reference model is
responsible for framing and media access
control?

(a) Physical

(b) DataLink
(¢) Network
(d)  Transport
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(%) INSERT (@) UPDATE

(@) DELETE ()  CREATE
SQL #3% ¥ HAVING owiiel &1 J7anr w3

_ ol @ 9 B 3

(%) WHERE (@) GROUPBY
(1) ORDERBY (%) DISTINCT
A R 18 Yo R ) g TR

emp (emp_id, emp_name, dept_id, salary)

A Rew 37 wel 9 emp_id 3K emp _name
ot 7 & ol Reerer Aol =vwes ==
ERT fo@at salary 10000 ¥ siftrs @ 7

(a;) 7z’.emp,,,,emp,m,,,e (asalary>10000 (emp ))
(ﬁ) o-emp,,, €MD e (nsalary>10000 (emp ))
(-'") nsalary>10000 (O.emp id2€MP e (emp ))

(@) 7 (o-sala;y>l(X)(X) (e”w (e”p_id emp _name)))
& 2t 'emp' ¥ T ) Al T D B
@ SQLWede = 27
(%) CREATE TABLE emp

emp_id CHAR(5) NOT NULL
PRIMARY KEY,

);
CREATE TABLE emp (
emp_id CHAR(5) NOT NULL,

RIMARY KEY (emp _id)
)
() CREATETABLE emp (

emp_id CHAR(5) NOT NULL,

CONSTRAINT pk_emp PRIMARY
KEY(emp)

)
(q) SW<w

36.

37.
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How many layers are there in ANSI/SPARC
database architecture?

@@ 3, b) 4

) 5 d o

Which of the following SQL commands isa DDL
command ?

() INSERT (b) UPDATE

(c) DELETE (d  CREATE

HAVING clause is always used in conjuction

with clause in a SQL query.
(@) WHERE (b) GROUPBY
(0 ORDERBY (d) DISTINCT

Consider the following database relations:

emp (emp_id, emp_name, dept _id, salary)
What is the relational algebra expression for
selectingemp_id andemp_name of employees
having salary more than 10000 ?

(a) 7 emp,; .emp, ... (Gsalary>10000 (emp ))
(b) o-emp", YeMPDyime (nsalary>10000 (emp ))
(C) nsalary>10000 (O-emp id€MPa (emp ))

d) = (o.salary>10000 (emp (e”BU_id »Emp _ name)))

Which of the following SQL statements is the
correct way of adding a PRIMARY KEY
constraint to a table 'emp' ?

(@  CREATE TABLE emp (
emp_id CHAR(5) NOT NULL
PRIMARY KEY,

%
(b) CREATE TABLE emp (
emp_id CHAR(5) NOT NULL,

PRIMARYKEY (emp_id)
)

(©) CREATETABLE emp ( t
emp_id CHAR(5) NOT NULL,

CONSTRAINT pk_emp PRIMARY
KEY(emp)

)
(d  Allofthe above
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41.

42.

43.

44.

45.

The number of 6-digit numbers that can be
constructed with all odd digits is :

(@ 6 ® 5°
© 5 @ 6

Two unbiased dice are rolled one after another.
The probability that the number on the top of
first die is less than or equal to the number on
the top of the second die is :

5 1
@ 1 ® 5
7 2
© 1 @ 3

What is the slope of the line represented by the
equation : y=5-8 x

@ 5 ® -8
8 3
© 3 @ 3

What is the determinant of the matrix given
below:

6 1
4 -2 5

2 8

(@ 108 ®) —306
(© 442 d —504

What is the sum of the following infinite

1 I 1
icseries: l+—+—+—+—+...
geometric series : Tt Etss
@ 2 (b) 25
) 3 @ 35
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sec? (x) - tan? (x) =2
(®) 1

(#)

cosec? (x)

47.

48.

49.

50.

A ﬁ at is the coefficient of the term x2 ) in the
expansion of Gyt ?

@ 2

b)) 4
© 6
@ 8

What is the derivative of y = sin (x) ?
(@ cos(x)

(b) —cos(x)

(c) sec(x)

@  cosec (x)

What is the standard deviation of 1, 2, 3, 4, and
5?

@ 3

® 3

(é) 2

@ 2

sec’ (x)—tan® (x) =?
@ 1

()  cosec’(x)

© 0

(d  sin?(x)

a%x =7

@ a ¥
b) x

© ax

d x/a
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51.

52.

53.

54.

55.

A force of 8 N makes an angle of 30° with
x-axis. What is the y-component of the force?

@ 45BN
®b) 4N
1
© FY
1
@ N

A stone is projected with a velocity of
20+/2 ms ! atan angle 0of45° to the horizontal.

What will the maximum height attained by the
stone (assume g=10 ms2) ?

@ 20m
(b) 10m
© 15m
d 25m

A body of mass 5 kg is moving in a circle of
radius 1 m with angular velocity of 2 rad/s. The
centripetal force acting on the body is L

@ 10N
() 20N
(© 30N
d 40N

Two objects of 1gand 4g are moving with equal
kinetic energies. The ratio of the magnitude of
their linear momentais

@ 1:2
b) 1:4
© 1:8
@ 1:16

Which of the Kepler's law states that: -

"All the planets move around the sun in an
elliptical orbit with sun at one of the focus of the

ellipse."

(@ FirstLaw
(b) SecondLaw
(c)  Third Law
(d)  Fourth Law
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56.

57.

58.

59.

60.

Modulus of rigidity of an ideal liquid is

(@)  dnfinity
() 0
© 1
(d) Negative
Which property of liquids is responsible for the
spherical shape of drops?
(a)  Viscosity
(b)  Density
(©)  Ductility
(d)  Surfacetension
___isadevice to measure the flow speed of
incompressible fluid?
(a) Barometer
(b)  Venturi-meter
(c) Ammeter
(d  Gyrometer

What is the resultant resistance of two
resistances R, and R, connected in parallel ?

(@& R+R,
(b) RR,
RR,
© R +R,
R +R,
@  "rr

A point object is placed at a distance of 30 cm
from a convex mirror of focal length 30 gm. The
imagewill format

()  Infinity

(b) Pole

(¢) 15 cmbehind the mirror
(d) 60 cmin front of the mirror



